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GUESS PAPER – 2011
CLASS – XII

Subject – Computer Science (083) Theory
Time allowed : 3 hours






Maximum marks : 70
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Note :

i) All the questions are compulsory .

ii) Programming Language  : C++ .
iii) Write down the serial number of the question before attempting it.
iv) Total number of pages - 4.


1. a) How do you create aliases (another name) for data type & variables/objects. Explain with example.
2
b) Name the header files that shall be required for the following program code: 



1



#include<iostream.h>

void main( )



{ char str[80];




gets(str);




cout<<setw(20)<<str;




}

c) Rewrite the following program after removing all the syntax error(s) underlining each correction. (if any) :
2


#include<iostream.h>



#include<stdio.h>



#include<string.h>




class 




{ int memnum;





char memname[30];





char memtype[30];





public:





void inclub( )





{ cin>>memnum>>memname>>memtype; }





void outclub( )





{ cout<<memnum<<memname<<memtype<<endl; }





}p1,*p2


void main( )

{ 

strcpy(p1.memname,”Pragati Salunke”);

p1.inclub( );

p2=p1;

outclub( ).p1;  }

       d) Write the output of the following program segment :






3
#include<iostream.h>

struct TRIO

{

int a,b,c;

};

void comeIN(TRIO &P, int S=2)

{

P.a+=S;

P.b-=S;

P.c+=P.a;

}

void getOUT(TRIO &P, int Q=2)

{ 
P.a+=Q;

P.b+=P.a;

P.c-=P.b; }

void main()

{

TRIO A={15,10,5},B={20,30,40};

comeIN(B);

getOUT(A,4);

cout<<A.a<<":"<<A.b<<":"<<A.c<<endl;

cout<<B.a<<":"<<B.b<<":"<<B.c<<endl;

getOUT(A,10);

cout<<A.a<<":"<<A.b<<":"<<A.c<<endl;

}

       e) Write the output of the following program :







2
#include<iostream.h>

#include<conio.h>

#include<stdio.h>

void main()

{

char a[ ]="CbsEexAM2011AhEAd";

int i;

for(i=0;a[i];i++)

if(a[i]>=97 && a[i]<=122)

a[i]--;

else

if(a[i]>=65 && a[i]<=90)

a[i]++;

else

if(a[i]>='0' && a[i]<='9')

a[i]=a[i-1];

else

a[i]='@';

puts(a); }

        f) In the following program, find the best possible output(s) from the given options :



2
#include <iostream.h>

#include <stdlib.h>

void main()

{     randomize();




char per[ ][30]={“Uday”, “Aditi”, “Sunahari”, “Kapil”, “Veer”};

int T;

for(int p=0;p<4;p++)

{

T=random(3)+1;

cout<<per[T]<<”%”;

}


}



outputs :

i) Uday%Aditi%Sunahari%Kapil%
ii) Aditi%Sunahari%Kapil%Aditi%



iii)Veer%Kapil%Veer%Kapil%
iv)Aditi%Sunahari%Kapil%Veer%
2.    a) What do you understand by polymorphism? Also, give an example to illustrate the same.


2
       b) Answer the questions (i) and (ii) after going through the following program



2
                           class Match
{ 


 


 int Time;

   


  public:




Match( ) 




//Function 1
{ 
Time=0;
cout<<”\nCricket Match Commences….\n”; }









void Details( )




//Function 2

{ cout<<”\nInter House Cricket Match\n”; }




 Match ( int a)
 



//Function 3
{ Time = a ; 
cout<<”\nAnother Cricket Match Begins Now….\n”; }









Match(Match &p)



//Function 4
{

Time=M.Time;

Cout<<”\nLike Previouas Cricket Match\n”;}

};

(i) By what name do you know function 4 and what is the purpose of using it?
(ii) Write statements that would call member function 1 & 3.
 c) Define a class T20 in C++ with the following specifications





4

Private members :


Target_runs of type integer

Overs of type integer


Extra_time of type integer


Penalty_runs of type integer


CALPENALTY( ) a member function to calculate penalty runs as follows :


If Extra_time<=10 then 5 runs should be added to Target_runs


If Extra_time>10 and <=20 then 10 runs should be added to Target_runs


Otherwise 20 runs should be added to Target_runs


Public members :

INT20( )  – to input data & call CALPENALTY( ) function

DISPT20( ) – to display the details of the T20 type
       d) Answer the questions (i) to (iv) based on the following :





4


class DIRECTOR



{ short DID;



char DNAME[30];



protected:





char Descr[30];




void Allocate( );




public:





DIRECTOR( );
void getDIR( );





void putDIR( ); 
};





class FACTORY




{ long FID;




char Addr[35];




protected:






int NOE;





public:






FACTORY( );





void getFACT( );

void putFACT( ); 
};



class SHOWROOM: public DIRECTOR, private FACTORY




{ long int  SID;





protected:






char City[25];




public:






void getROOM( );





void putROOM( ); 
};

i) Name all the members, which are accessible by the functions of class SHOWROOM.

ii) Name all the private members of class SHOWROOM.
iii) Name the data members, which are accessible from the objects of class SHOWROOM.
iv) How many bytes will be occupied by the object of class SHOWROOM.

3.   a) Write a C++ function to transfer all the elements of a two dimensional array A[4][4] into a one dimensional array B[16].











2
	2
	4
	5
	2

	5
	2
	5
	7

	 9
	6
	8
	3

	6
	8
	7
	9


 

then the resultant 1-D array B should have 

	2
	4
	5
	2
	5
	2
	5
	7
	9
	6
	8
	3
	6
	8
	7
	9


       b) An array AR[30][35] having real numbers(long double), is stored in the memory along the column. Find out the memory location for the element AR[10][20], if an element ARR[5][15] is stored at the memory location 9000.











3
       c) Evaluate the following postfix notation of expression :






2


50, 20, 15, -,  *,25, 2, *, +
       d) Write a function in c++ to arrange a one dimensional array having  N integers in descending order using insertion sort method.










3
       e) Write a complete program in C++ to implement a dynamically allocated Stack containing name of any country.












4
4.    a) How will you open a binary file “GURUJI.DAT” for writing records in C++?



1
       b) Write a function in c++ to count the number of small consonants present in a text file ALPHA.TXT
2

       c) Write a function in c++ to search and display the records of all trains, whose destination is “Kolkata” from a binary file “TRAIN.DAT”. Assuming that the binary file is containing the objects of the following class :
3




class TRAIN





{ int tno;






char From[25],To[25];






float fare;






public:







float *RetTo( ) { return To; }







void Enter( ){ cin>>tno; gets(From); gets(To); cin>>fare }






void Display( ){ cout<<tno<<”\n”<<From<<”\n”<<To<<”\n”<<fare<<endl;} };

5.    a) Differentiate between primary key & candidate key with suitable example?



2
       b) Consider the following tables PRODUCT & CLIENT. Write SQL commands for the statement (i) ti (iv) and give outputs for SQL queries (v) to (viii)









Table : PRODUCT
	PID
	Pname
	Manufcturer
	Price

	HP01
	Complan
	HLL
	195

	FW01
	Face Wash
	Himalaya
	65

	BS01
	Bar Soap
	Fena
	12

	CC01
	Cold Cream
	Ponds
	55

	HL01
	Horlicks
	TDH
	215








Table CLIENT

	CID
	Cname
	City
	PID

	56
	Gopal & Sons
	Varanasi
	FW01

	48
	Paradise For You
	Delhi
	BS01

	14
	Beauty Collection
	Lucknow
	CC01

	18
	Dreamz
	Varanasi
	HL01

	10
	Dhanuka Stores
	Kolkata
	HP01


 i)   to display the details of the clients of Varanasi & Kolkata in descending order of Cname.


1
 ii)  to display all the products whose price ranges between Rs. 1-100.




1
    iii) to display Pname, Price, Cname, City from tables PRODUCT & CLIENT.



1                           
 iv) to decrease the price of all products produced by Ponds by 15%.





1
 v) Give the output of the following SQL commands :






2

a) SELECT COUNT(Distinct City) FROM CLIENT;


b) SELECT Manufacturer, Max(Price), SUM(Price) FROM PRODUCT Group By Manufacturer;

c) SELECT Pname,Price*12 FROM PRODUCT;


d) SELECT Cname, Manufacturer FROM PRODUCT P,CLIENT C WHERE C.PID=P.PID;
6.     a) State and verify DeMorgan’s theorem.








2
     b) If F(P,Q,R,S) = ( (3,4,5,6,7,11,13,15), obtain the simplified form using K-Map.  



3
        c) Represent OR operation using NAND gate(s) only.






1

        d) Write the POS form of a Boolean function G, which is represented in a truth table as follows :

1
	A
	B
	C
	G

	0
	0
	0
	1

	0
	0
	1
	0

	0
	1
	0
	0

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	1

	1
	1
	0
	0

	1
	1
	1
	1


         e) Draw the circuit diagram for the Boolean expression :
(A+B)(A’+B)(A’+B’)



1
7.     a) Differentiate between Trojan & Worm.








1
        b)  Expand EDGE & SMSC.









1
        c)  What do you mean by Free & Open Source Software (FOSS)?



                     
1
        d)  Define the term bandwidth. Write unit of bandwidth.






1
        e) Ginger Communication has the following four buildings in Madurai:
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Computers in each building are networked but buildings are not networked so far. The company has now decided to connect the building also.









e1) Suggest a cable layout for these buildings.







1
e2) In each of the building, the management wants that each LAN segment gets a dedicated bandwidth . How can this be achieved?










1
e3) Suggest the placement of MODEM & REPEATER.






1
e4) The company is planning to link its branches situated in various parts of the same city, which type of network will be formed? Justify your answer.







1
f) What is web scripting?










1
g) Write two advantages of optical fiber.








1
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 Best of Luck for your Board Examination…….
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